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@® 3kg=3000g @ 4t =4000000g

(@)5.51: = 55000000 g @ 6t = 6000kg

® 120t = 120000 kg

@ 5.5t = 5500 kg = 5500000 g
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7. TS UeAle] A0 2 SHlE AL oL HQIUA

56.4 =8
D 0.75x8 =56.4 @ 75%x8=56.4
® 70.5x8 =56.4 @7.05 x 8 = 56.4

® 0.705 x 8 = 56.4

B

56.4 + 8 = 7.05
U 2]7F 0 Q1 YAl o] HAAlLS

(F)x (e 9) = (UHFolAle 4) 4yt
ek 56.4 + 8 = 7.05 2] AL

7.05x 8 = 56.4 Y},
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12, #Aoly ofMyAA = AAE 35ke A 6 Sofl "ot 10 dlf e
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(3] (4] [5} [6] [71[9]

7 6 3 5 6
® 55 @ 5 ® 65 @ 6 @55

6 Ho} zrom A 712 2 B 52 =5.8571---

6 Hop AHA 7P A2 24 62 =6.33 ---
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_-0.75km- _
galo|7k =
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A2 I9m—>15m |=A g} 14m

1km = 1000m, 1 m = 0.001 km

SHol7t A& g9 A 750 - 10 = 740(m)

SHo|7t £ g9l AR 750 - 9 - 15 = 726(m)

7zl 2] x}o]: 740 - 726 = 14(m)
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407} 0.75(km) & @7 Az 0.75 + 0.007 = 107.14 -+ (
%) = 107.1( %)




